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B8PS RRB-2023 (MAHAMARATHON)

The Radar graph gives the information related
to CP (Cost Price), SP (Selling Price) and MP
(Marked Price) of five articles (All values are
multiple of 100).

R UATE Tie TEq3 o6 CP (56T Te ), SP (foshar
o) 3R MP (3ifeRe Ao | Hafera et gan

T @+t 9T 100 3 TUTR F)1

/_IBPS RRB PQ.Pre
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IBPS RRB-2023 (MAHAMARATHON)

Find the ratio of total combined discount given

on article A and C to the combined profit
earned on same products.

TET A R C Wt TS el €Yk B ohl GUE
IeATRT R AT TH ATH | SFATAT 7T 1T
(1) 8:5

(2)5:3

3)17:12

4) 9:4

(5) None of these

/_IBPS RRB PQ.Pre
=y
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” 4




B8PS RRB-2023 (MAHAMARATHON)
Find the discount percent on article D.
FF D W P I 76 hifel
(1) 25%
(2) 27.5%
(3) 33.33%
(4) 37.5%

(5) None of these

/_1BPS RRB PQ.Pre

20) 1)

” 4




BPS RRB-2023 (MAHAMARATHON)

Find the combined profit percent on article A
and C.

T A HR C W EIH AT TTa9rd [T hiteg)
(1) 25%

(2) 27.27%

(3) 33.33%

4) 27.5%
(5) None of these

/_1BPS RRB PQ.Pre
= | i b0
L)

” 4




B8PS RRB-2023 (MAHAMARATHON)
Find the difference of profit/loss percent on
article B and E.

T B R E W ATH/ETH Jfara ot 3tk 7
EASIY

1) 20%
2) 25%

R)RRRRYT
(4) 40%
(5) None of these

/_1BPS RRB PQ.Pre
= | i b0
L)

” 4




BPS RRB-2023 (MAHAMARATHON)

Find the average selling price of all five

products.

Tt Ui AT T A ke 7o 7T
shitvTul

(1) 550

(2) 700

(3) 900

4) 600

(5) None of these

/_1BPS RRB PQ.Pre
= | i b0
L)

” 4




8-2023 (MAHAMARATHON)

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//FeafeTRae war & 2 gHieRTor =1 x AR y # f2u T F) stuent
T THTRTUTT ahi geT ShiAT § AN x AR y o ofter Herer freriiia e 2

RRB Pre

.2x* +5.5x+1.25=0
.12y? — 22y +8 =10

A. x>y B.x<y C.ny
E. x=y or No relation can be established

g Heer TATUT A1 fohaT AT AehaT 8




8-2023 (MAHAMARATHON)

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//FeafeTRae war & 2 gHieRTor =1 x AR y # f2u T F) stuent
T THTRTUTT ahi geT ShiAT § AN x AR y o ofter Herer freriiia e 2

RRB Pre

L.3x2—-9x+2=0
.2y +6y+4=0

A. x>y B.x<y C.ny
E. x=y or No relation can be established

g Heer TATUT A1 fohaT AT AehaT 8




8-2023 (MAHAMARATHON)

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//FeafeTRae war & 2 gHieRTor =1 x AR y # f2u T F) stuent
T THTRTUTT ahi geT ShiAT § AN x AR y o ofter Herer freriiia e 2

RRB Pre

.0.3x* +x—0.8=0
11.0.02y% + 0.03y — 0.09 = 0

A. x>y B.x<y C.ny
E. x=y or No relation can be established

g Heer TATUT A1 fohaT AT AehaT 8




8-2023 (MAHAMARATHON)

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//FeafeTRae war & 2 gHieRTor =1 x AR y # f2u T F) stuent
T THTRTUTT ahi geT ShiAT § AN x AR y o ofter Herer freriiia e 2

RRB Pre

L.x2—-2.4x—-1.8=0
I.2y>—0.5y—-0.2=0

A. x>y B.x<y C.ny
E. x=y or No relation can be established

g Heer TATUT A1 fohaT AT AehaT 8




8-2023 (MAHAMARATHON)

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//FeafeTRae war & 2 gHieRTor =1 x AR y # f2u T F) stuent
T THTRTUTT ahi geT ShiAT § AN x AR y o ofter Herer freriiia e 2

RRB Pre

L5x% —12x — 9 = 2x% + 3x + 2
1.23y> — 10y + 5 =3y?* -5y + 7

A. x>y B.x<y C.ny
E. x=y or No relation can be established

g Heer TATUT A1 fohaT AT AehaT 8




8-2023 (MAHAMARATHON)

In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//FeafeTRae war & St g =1 x AR y # 2w T ) stuent
T THTRTUTT ehi goT ShiAT § 3T x AR y o ofter Herer freriiia e 2

RRB Pre

.3.1x+ 2.3y =2.1
11.0.2y - 0.2x = 1.4

A. x>y B.x<y C.ny
E. x=y or No relation can be established

i Tarer TATIU & TR AT AhaT 2




B8PS RRB-2023 (MAHAMARATHON)

" A survey was conducted in five cities viz. Pune,

Kanpur, Raisen, Surat and Trivandrum, for the
percentage of people using T (trains), B (buses), C

(cars) as modes of transport. Number of persons

surveyed in the cities Pune, Kanpur, Raisen, Surat
and Trivandrum are 2000, 4000, 6000, 3000 and
8000 respectively. Refer to the data in the triangular

bar diagram to answer the questions that
follow./at=r IT&T H Teh A &AUT fohaT 74T - JUT, SHTHTR,
W’Wﬁﬁw’m%m%WﬁT | | IBPS RRB PO Pre
(&), B (@4T), C (FTRI) T STTRT i qTe ART o6

wfcrora o ToTg) qor, shTg, Taae, 93 AR Besw

ITER | I LTUT | I STTRAT shT TEAT SHAIT: 2000,

4000, 6000, 3000 3T 8000 Tl T AT T2 T I

2 o foTu BreRiuiT IR ot o geT 3@l




# The city where the least number of persons use

buses is —

TE IS STET TG T IUANT HA ATA ST TRAT Rl
T AT T -

1. Surat

2. Raisen

3. Kanpur

4. Pune

5. CND




- The average number of persons using trains
for transportation in Pune, Kanpur, Raisen

and Trivandrum is —

JUT, HTYY, T8 AR Fragw o ufes & forg
ST BT IUANT ¥ ATl ST BT chl STEd HEIT
z-

1. 1880
2.1750
3.1950
4. 1875
5. None of the above




- Among the given five cities, the cities where
less than 30% of the people use cars as
transport are:

fau TTg uter oreRl § W, I IR el 30% | HH AR
I ST ITTANT TRAEH o & H hid &

1. Kanpur and Trivandrum

2. Pune, Kanpur and Raisen

3. Pune and Raisen

4. Pune, Kanpur and Surat
5. None




" The car used as mode of transport is more
than 25% but less than 50% in:

UREE & B9 W SUANT kYl I ATl R 25% A
TR B, AT 50% O A T

1. Kanpur, Raisen
2. Pune, Trivandrum

3. Kanpur, Trivandrum

4. Kanpur, Trivandrum and Raisen
5. None of these




) 72
B8PS RRB-2023 (MAHAMARATHON)
¥ Which of the following statements is not true?

fFraferRaa wemt ® | SiaT g T8 82

1. 50% of the people use trains for transport in Kanpur

and Raisen./50% THT hTAIT IR T 'ﬁ‘qﬁaﬁ%%ﬁ

YERTIEAT T SUTNT i © |

2. In Trivandrum, more than 50% of the people use cars
for transport/Bagw o, 50% & 31ferek wThT uftae & foru
HRI hT ITATHA ¢ |

3. More percentage of people use buses for transport in
the city Surat than in the city Pune./3TgX g‘ﬁ‘iﬁ‘Wﬁ‘ : :
YA e § ufverg o foru stferen wfaera ot =&t w6t IBPS RRB PO Pre
UL LA

4. In city Raisen, there are more percentage of people

using trains for transport than buses./3TgX T |, F9t

&t qorT o ufiarg o forg At st swamT s aret et

T TTA9Ta AT B

5.CND




" The car used as mode of transport is more
than 25% but less than 50% in:

UREE & B9 W SUANT kYl I ATl R 25% A
TR B, AT 50% O A T

1. Kanpur, Raisen
2. Pune, Trivandrum

3. Kanpur, Trivandrum

4. Kanpur, Trivandrum and Raisen
5. None of these




B-2023 (MAHAMARATHON)

Article Store A Store B

The table shows the discount percent given by
stores on different items. The Market Price
(MP) of any article on all stores is same. Some
values are missing. Answer the questions on the
basis of given table and information in question.

arferent farfir segen w gemt g R e g

ferere st STt 31 Tt gentat ot foret oft oeg wt
3ifeRa e (MP) HHTH B14T | S W T g &
TS ATTeTeRT A T2 W &Y T8 TR oh TN UY
T ok I 2

16%
28%
16%

12%

7%
18%
18%
11%

Store C
24%
40%
30%

RRB PO Pre




If the average SP of article II by in all the stores Arlicle Store A StoreB Store C
is 2568, find the MP of article 11. I 16% 7% 24%
At Tt g ] 11 o e sk Jea I 28%  18%  40%
%2568 2, a‘rWIIWMPmﬁﬁm i 16% - 30%
(1) 3200 \Y -- 18%

(2) 4500 \" 12% M1%

(3) 3600 RRB PO Pre
(4) 4300
(5) 4000




Difference between SP of article I by stores A  Article Store A StoreB Store C
and B is ¥486, Find the SP of same article by I 16% 7% 24%
store C. Il 28% 18% 40%
ST A 3R B FRTEE] 1 'k SP ok &fter st i’ [ 16% - 30%
2486 %, T C gRT AW oFd &1 SP Aa shifsm IV - 18%

(1) ?3506 Vv 12% 1%

(2) T4005 RRB PO Pre
(3) 24808
(4) 24104
(5) 3205




Average SP of article III by stores A and B is Article Store A StoreB Store C
3608, by stores B and C is ¥3300. Find the SP of | 16% 7% 24%
article III by store C. Il 28% 18% :[0)74
T A @R B TRI G I 1 oftea SPE3608%, I 16% - 30%
g B 3R C TRTE3300 81 §hM CEASRT T IV -- 18%

TSP mzﬁﬁr@ \Y} 12% 1%

(1) ¥2984 RRB PO Pre
(2) 3122
(3) £3080
(4) 22764
(5) 3452




Store A earned 10% profit by selling product V. Article Store A StoreB Store C
If CP of the article at all stores is same, find the I 16% 7% 24%

ratio of profits by B and C by selling article V. Il 28% 18% :[0)74
TR A T TE V ol slelehl 10% 9 SAfed feham il 16% -- 30%
aﬁmﬁwﬁmmw CPEUHE, A IET V \% -- 18%
FTATA U B 3R C 3 T mmmaﬁrﬁmn \ 12% 1%

(1)6:15 RRB PO Pre
2)9: 16
(3)8: 15
4)6: 13
(5)9: 14




Ratio of discounts on article IV by stores A and Article Store A StoreB Store C
B is 2/3. Difference in SP of article IV by stores I 16% 7% 24%
A and C is ¥432. If SP of article IV by store A is Il 28% 18% :[0)74
¥216 more than that by store B, find the SP of 1l 16% -- 30%
article IV by store C?/gehT A AR B ELUCESE A -- 18%
mwamamrmz/s%lwmﬁ?cmmlv 4 12%2 1%
a;spframusz%laﬁgan-—mma@vem RRB PO Pre
SP ST B ¥ 216 ATerek 7, a1 gt C gRI S

IV T SP ATa hifsre?

(1) ¥2138

(2) ¥2687

(3) ¥2736

(4) ¥2522

(5) ¥2544




B-2023 (MAHAMARATHON

The table chart shows the cost price (CP), ltems CP
selling price (SP), profit percentage (%P) Refrigerator 15000

and profit (P) of different items in an Washing 12000
Machine

electronic shop. All prices are in . Some IV = 30000
data are missing. AC

ATTcTeRT ©ITE Ueh Sorekg ek goht | foIf=1  water purifier ~ --- 18000

T o TN oA (CP), Tkt 964 (SP),  Cooler
T TFA9Te (% P) 31 T (P) Thi 91T 2
Tt FAd TH §| FS ST 2|

)

20%

--- 2000
RRB PO Pre




B-2023 (MAHAMARATHON)

What is percent profit of TV, if CP of ltems CP
television is 8/5 of CP of water purifier?  Refrigerator 15000
TV T T UTa9Ta fepa-T &, afe TVar cp Woshing 12000

Machine
JTeX WRITTER 3 CP T 8/5 32 v - 30000

(1) 24% INe
(2) 20% Water Purifier --- 18000 20%

3) 30% Cooler --- 2000
(4) 25% RRB PO Pre
(5) None of these




What is SP and percent profit of AC
respectively, if SP of AC is 500 more Refrigerator

than three times of SP of refrigerator? Washing
Machine

At AC T SP IHSIET o SP o oI AT & v
500 21fereR §, A AC T ShUIT: SP 3T AC
TfereTa ST T 82 Water Purifier

(1) 250000, 9 11 % Cooler
(2)%49000, 11 - %
(3)%50000, 11 5 %

1
(4) ¥49000, 9 1 0%
(5) None of these

15000
12000

45000

10000

30000
18000 20%
2000

RRB PO Pre




If CP of TV is same as in first question, ltems
what is the ratio between profit on TV Refrigerator
and difference between CP and SP of Washing

Machine
Water Purifier? v

afd TV T CP Uge! U9 % TWH &, T TV AC
TR ATH 3R AT WAETA o CP RSP % water Purifier

e AT T WW%" Cooler
(1) 2:5

2) 1:2

3) 2:1

(4) 3:4

(5) None of these

HON)

15000
12000

30000
45000

18000 20% --
10000 --- --- 2000

RRB PO Pre




The CP of Water Purifier is what percent

more/less than SP of Cooler ?

AT FHE T CP, Few o SP | foha
aferora arferen/em 2

(1) 20%

(2) 24%

RIPAVL

(4) 10%

(5) None of these

Iltems
Refrigerator

Washing
Machine

TV
AC
Water Purifier
Cooler

RATHON)
P SP

15000
12000

30000
45000

18000 20%
10000 --- --- 2000

RRB PO Pre




If profit on AC is 1/4 of SP of Water
Purifier, what is percent profit of AC and Refrigerator
difference between SP of AC and SP of Washing

Machine
i ?
refrigerator? IV

A AC WA AR AR KR SPHRT1/4 5

%, Al AC T STH TTa9Td 3T AC o SP 3R Water Purifier
IMASET o SP o Sl ohT 37aR TehdAT 82 Cooler
(1) 12%,%36000

(2) 10%,%33000

(3) 10%,%36000

(4) 12%,%33000

(5) None of these

15000
12000

45000

10000

30000

18000 20%

2000

RRB PO Pre




. 2
5-2023 (MAHAMARA
Find the missing term in given series.

<t ¢ 9feTT W oI I1eg HTd i)

1. 82.5 2.81.5 3. 84.5 4. 80.5 S. 86




. 2
5-2023 (MAHAMARA
Find the missing term in given series.

<t ¢ 9feTT W oI I1eg HTd i)

18, 24, 36, 56,

2.118 3.124

4. 130

S.126




. 2
5-2023 (MAHAMARA
Find the missing term in given series.

<t ¢ 9feTT W oI I1eg HTd i)

222, 110, 54, 26,




. 2
5-2023 (MAHAMARA
Find the missing term in given series.

<t ¢ 9feTT W oI I1eg HTd i)




. 2
5-2023 (MAHAMARA
Find the missing term in given series.

<t ¢ 9feTT W oI I1eg HTd i)

26’ 639 124, 215,

1. 315 2.421 3. 342 4. 426 S. 388




Study the following information
carefully and answer the given
questions:

The given line graph shows the

percentage of vinegar in the mixture

of water and vinegar in 5 different
vessel.

frferiaa SRRt &1 earga®
LTI Y AW f2U U it & W
T T ET Ut 5 S-St JaHt |
T TR e o s § et it
TfdeTa g9TiaT 2

RRB PO Pre




In a vessel R containing some mixture, x 100
90

80
and replaced by water. If the ratio of the 70

litter of the mixture should be withdrawn

vinegar and water in the mixture will be 60

50
7: 18, then find the value of x. 40

T 9 R # % frsror 7, fersror &1 x forer 30

frerrer foram s wnfRy ofR urht & et fommr 20
AT AT IS THsror o fEmenT T ar=t &1 0
ST 7:18 TN, AT x ST HIT 1A 1T

(1) 8 RRB PO Pre
(2) 7

3) 6

(4) Cannot be determined

(5) None of these




The vessel T of 120 litre has a mixture of
vinegar and water. 60% of vinegar and x%

of the water is taken out of the vessel. If it is
found that the vessel is vacated by 50% and
then find the value of x.

120 e Fa9 T W Rert 31T Ut vt forgror
1 TATH 60% TR 3R x% aTt FHehter

foram wtmar 21 arfe =g gt imat § foh ad= 50%
Tt § 3T TR x T |1 AT ShifeTu)

(1) 40%

(2) 30%

3) 20%

4) 10%

(5) None of these

RRB PO Pre




B.2023 (MAHAMARATHON)

There is 1000 litre of mixture in the vessel S. 200 100
90

80
amount of water is poured into the vessel and 70

litre of the mixture is taken out and same

again 400 litre of mixture is taken out and same 40

amount of water is poured into vessel, then find 50
40

30

the amount of vinegar in the resultant

mixture?/ddT S ¥ 1000 #e f20OT 81 200 et o

frgror et e ST ? iR SaT T at da d - 10
STAT SATAT & 3T 400 wie frsror fm & At 0
foraT STt 2 ST SaAT €t Tt e § ST AT R, T
ﬁmaﬁﬁq ﬁ ﬂﬁwﬁ_ﬁmaﬁ.w? RRB PO Pre
(1) 432 litre

(2) 456 litre

(3) 448litre

(4) 428 litre (5) None of these




If the vessels P, Q and R, each of 400 litre
capacity, then find the ratio of vinegar and
water in the resultant mixture, if all the

three vessels mixture is poured into Jar?

afe 67 P, Q 3TN R, Tk 400 et Y
&IAT SATe, Y TEERT SR Ut ST S77aTd [T

shifrr aivoTst fersror, afe ST st 6t
freror 3 SR H Ster femm

1) 7:3

2) 3:5

3) 6:5

4) 5: 4

(5) None of these

100
90
80
70
60
50
40
30
20
10

0

RRB PO Pre
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